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STEP 1
712 HI%7]
1. WeightOl| [} Number of crackers eaten XtO|7} QUL
2. FullnessO 2 Number of crackers eaten AtO|7} QALK
3. Weight@} Fullness2| &= 20| [[FE Number of crackers eaten XtO[7} RALCE.
STEP 2
Locate the critical range for F-ratio. calculate the df s
1. dfiotal =80-1=79 (N - 1)
Afwithin =19 « 4 =76 ((n—1) * (cell M=)
Afvctween =4 -1 =3 ((cell M=) -1)
dfa =2 -1 =1 (Number of levels of A — 1)

dfs =2 -1 =1 (Number of levels of B — 1)

ﬁ'{f_.'[_r-ﬁ =3-1-1=1 (dﬁ:r.‘u-rrn - r”.-'l - ﬂ'{fﬁ)

2. Compute F-ratio
SS

SSiotal = 31836 — 25920 = 5916

SSuwithin = 1540 + 1270 + 1320 +1266 = 5396



~L.’I~L-’I|’:r.'||'rr1r = F’IF’I.'rJ.'rn' - -':’I'BIII'.'.nlnrl.'..lr = 520

554 =13690 + 12259 - 25920 = 20
S5p = 15210 + 10890 - 25920 = 180

r"""er = -C«‘IF’Il':r.'u'rr n o L’L«"l - L’L’B = 520 - 20 _180 = 320

MS
MSa = SSa/dfa = 20/1 = 20
MSp = SSg/dfs = 180/1 = 180

MSi.p = SSa.p/df128 = 320/1 = 320
M Swithin = SSwithin/@fwithin = 5396/76 = 71

F-ratio

f"[ .-lll.!r.".Jl_.'[/-'lllj-cJ.II'.f.'.’l.l'Jr = 20/71 = 0.28169014

Fg _\ILJB/-\-‘;L’H.'HI in 180/71 = 2.53521126

f'.__'[_r-g = _-1.!{.".}I_.1_r-ﬁ‘/-'l||f~cf‘lﬂ'.l'.'."l.l'Jr = 320/71 = 4.50704225

3. Result

Table 1. Mean number of crackers eaten in each treatment condition

Fullness
Empty stomach Full stomach
Normal M= 22 M= 15
. SD=9 SD=8.18
Weight B B
Obese M= 17 M= 18

SD= 8.34 SD=8.16



Result

Source SS df MS F
Between treatment 520 3

- Factor A (weight) 20 1 20 0.28
— Factor B (fullness) 180 1 180 2.53
— A x B interaction 320 1 320 4.50
Within treatment 5396 76 71

Total 5916 79

weigth x fullness factorial design
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STEP 4
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